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QUESTION 1

Which four are true about duplicating a database using Recovery Manager (RMAN)? (Choose four.) 

A. Duplication can be done by having the auxiliary database instance pull backup sets from the target database
instance. 

B. A connection to an auxiliary instance is always required. 

C. A subset of the target database can be duplicated. 

D. A new DBID is always created for the duplicated database. 

E. A connection to the recovery catalog instance is always required. 

F. A backup of the target database is always required. 

G. Duplication can be done by having the target database instance push copies to the auxiliary database instance. 

H. A connection to the target database instance is always required. 

Correct Answer: ABCG 

 

 

QUESTION 2

Which two restrictions apply when the RMAN BACKUP AS COPY command is used to create a backup? (Choose two). 

A. Backups can be taken only if a fast recovery area is configured. 

B. Backups can be written only to disk. 

C. Backups can be taken only for data files. 

D. Binary compression cannot be applied to the backup. 

E. Backups can be written only if checksums are stored for each block. 

F. Backups can be written only to media. 

Correct Answer: BD 

 

QUESTION 3

Which two are true about Oracle instance recovery? (Choose two.) 

A. Recovery begins from the beginning of the CURRENT redo log group. 

B. Recovery begins from the last checkpoint position that was calculated by the Database Writer before instance
failure. 
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C. Recovery begins from the start of any ACTIVE redo log group or the start of the CURRENT log group if no other
group is ACTIVE. 

D. Recovery reads redo until the end of the redo thread. SMON rolls back any dead transactions, and then the datanase
is opened. 

E. Recovery begins from the last checkpoint position that was recorded in the control file by the checkpoint process
(CKPT). 

F. Recovery reads redo until the end of the redo thread, and then opens the database. SMON then rolls back any dead
transactions. 

Correct Answer: EF 

 

 

QUESTION 4

Which two statements are true about Resource Manager plans for individual pluggable databases (PDB plans) in a
multitenant container database (CDB)? 

A. If no PDB plan is enabled for a pluggable database, then all sessions for that PDB are treated to an equal degree of
the resource share of that PDB. 

B. In a PDB plan, subplans may be used with up to eight consumer groups. 

C. If a PDB plan is enabled for a pluggable database, then resources are allocated to consumer groups across all PDBs
in the CDB. 

D. If no PDB plan is enabled for a pluggable database, then the PDB share in the CDB plan is dynamically calculated. 

E. If a PDB plan is enabled for a pluggable database, then resources are allocated to consumer groups based on the
shares provided to the PDB in the CDB plan and the shares provided to the consumer groups in the PDB plan. 

Correct Answer: AE 

A: Setting a PDB resource plan is optional. If not specified, all sessions within the PDB are treated equally. In a non-
CDB database, workloads within a database are managed with resource plans. In a PDB, workloads are also managed
with resource plans, also called PDB resource plans. The functionality is similar except for the following differences: Non-
CDB Database Multi-level resource plans Up to 32 consumer groups Subplans PDB Database Single-level resource
plans only Up to 8 consumer groups (Not B) No subplans 

 

QUESTION 5

Which three are true about configuring CONTROLFILE AUTOBACKUP by using RMAN? (Choose three). 

A. The control file is backed up whenever a new tablespace is created. 

B. The server parameter file (SPFILE) is automatically backed up each time the control file is backed up. 

C. The control file is backed up whenever a new table is created. 

D. The control file is backed up whenever an RMAN backup is successfully recorded in the catalog. 
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E. It requires the use of fast recovery area (FRA). 

F. The control file is backed up automatically each time the SPFILE is backed up manually. 

Correct Answer: ABF 
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